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N.B.: 1) Question No. 1 is (‘ompulsmy ‘ |

2) Answer any THREE qllbbtlﬂllb hom Q 2 to Q. 6
3) Figures to the right mdu,atc full mdlks

Q1 (@) Evaluate f“i(y + ixz) dz along the parabola P %2, (5)
®) IfF = (x+ 2y +az)i+ (bx - 3;v —2)j. + (4x + o+ ZZ)k & (5)
irrotational then find the values of a b & & _
() A continirous random varlabie has pdf- f (2] = ke-x Ot < B, (5)
Determme k, mean, va11ance = ,
(d) > [3 & Tape |2 : (5

oy (3014 |8912 |O :
+ Calculate the Karl Pearson’s coefﬁcwnt of correlatlon :
Q.2 (a) ¥ The followmg are the marks scored, by students in two tests ina Sub_] ect. (6)
N Calculatc Spearman S rank correlatlon coefﬁc1ent of from the followmg
data. B ) ~ £N

&

Marksin Test 1 | 18 |20 [3%[%2 | 12
. Marks in Test2 | 39 |23 [%987| 18 46 | 7
8 ~;‘\;‘7" : L5 ‘.\: ©)
~ (b) Find the MGF of a random variable X whose p.m.{is given by
x & =0 =" I S 3
P(x) EE Y ™ 1/9 5/18 10/18
: . Hence find mean and Variance of X.
(c) Obtain all p0531ble Laurent s series expansmn of 2 (8)

f( )“maboutzuo

> Q.3 /(a)" Three urns,are there containing whxte and black balls; first urn has 3 white  (6)
~ and 2 black balls, second urn has 2 white and 3 black balls and third urn
hag'4white'and 1 black balls. Without any biasing one urn is chosen from
that ong ball is chosen randomly which was white. What is probability
‘thatitcame from the third urn?

i (b), Fitthesecond degree 301ynom1al for followin data ,
& NI M2 by TaeP [s [6 17
& A NE T T s £ .

O (G) PI‘OVC thatF (ny + 2)i + (x o 2y33)j + (3y213 +x)k is
~ conservative. Find scalar potennal of 7 . Hence find the work don
movmg par’tlcle from (1,2,0) to (2,2, 1)
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Q4 (a)
(b)

(c)
Q5 (a)
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Using Green's Theorem evaluae f (x‘ - y)dx | (y!- b x)dy hed o
is closed curve of the region bounded byy = 4andy =
Samples of two types of eleetric bulbs were lt:.*ilt:(l for Icn}«',lh of life
and following data were uhhunul _

T ypg, "l'ypu 11
’ P p ;
Number of samples K] op i R - %
Mean of samples(in hour) | 1134 [ 1024 |

Standard Deviation(in = |35 |40

(6)

(())

Evaluate f

hour)

Test at 5% level of su,mllcanu, whether the difference in the sampley,
means is significant,

[n a normal Dlstrlbutlon 30"/, of studcnts scored below 35 and 10%=" (8)
scored above 60! Find thermean and standard deviation,” 2

The standard dcvntlon from two random samples of size§ 9 ind 13 (6)
are 1.99 and'1.9. Can the samples be regard as drawn from normal
population with same standard deviation?(Fg, 1, (0.0 ZS) E

' 3.51, Faz)(0.025) = 4.20)

Use:-Gauss’s Divergence’ Theorem to evaluate off N, des where (6)
F= 4l ~ Zy g sz dndS srchon boundcdbyx Fy¥=4,z=

‘OZ_

pp
Obtain both Ling of regressions for th e data iven below (8)
Xo” | 65 .1'66 67 67 68 B§|.69 70 72
Y |67 (68 65 |72 [69 |71
Also find X for Y =70. i : :

B i ‘ 6)
¢ @van 2)dz wiherec is the cucle |z “i=2.

The followmg data relafbto marks obtained by 11 students in 2 tests,  (6)
one held at the beglrm‘ing ofithe year and the other at the end of the

sear after intensive coaching:

Test 1210 |23 W88 24717 |18 |20 18 |21 (19 {20
L P | |
Test | 17|24 120 .24 20’,* 22 130 [20 [18 |22 |19
27 by G’ 0"

J

~The following tablc glqas the number of accuicnts in a district during  (8)
* a W@ek‘w\pply x* test to ﬁnd ‘whether the accidents are uniformly

istributed over the week. | :
m' Sun | Mon | Tues | Wed | Thurs | Fri Sat

0.0f days 13 : i B 12 9 15 10 s
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